Missing Numbers in Equations (A)

11-u=9

kx9=81

bx8=48

v—5=1

15+x=5

a—+3=

Find the value of each unknown.

4xd=12
8—1r=6
10—b=9
54+u=13
21 +-y=3
3+-d=1
28 +-v=4
15—p=6
6Xt=18
rx1=7

48 +u=6

6+d=10

t+4=5

vX8=16

13—p=5

4+p=5

21+f=3

2

4+ f

7—b=1

m+9=17

99X z=63

z+7=13

px1=2

y+8=13

Math-Drills.com




Missing Numbers in Equations (A) Answers

11-u=9

Find the value of each unknown.

10—-b=9

5+u=13

28+v=4

15—p=6

21+f=3
f=7

4+~ f=2
f=2
7—b=1
b=6
m+9=17
m=28
8—r=4
r=4
9Xz=63
z=17
z+7=13
Zz=26
px1=2
p=2
y+8=13
y=5

X Jj =64
j=28
g+3=5
g=15
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